| > restart

> fi= ( ) t-Heaviside(¢ (%) ) -Heaviside(r — 2) + (%)-(r—4)
-Heaviside(t — 4) plot t=0..5, scaling = CONSTRAINED)
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> gi=- (3)-(t+4)-HeaViside(t+4) +2- (?)-(t+2)‘HeaViside(t+2) - (%)t

-Heaviside(?) : plot(g, t=-5..5, scaling= CONSTRAINED)




> h

= f+g:plot(h, t=-5.5, scaling= CONSTRAINED)



> a, = (%)-int(h-cos( n'il't ),tZ—L..L)
a, =0
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> b, = (I)-mt h-sm( I ),tZ—L..L)
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TF = sum( b -sin[ 2L =1 500 :
_> STF,,, = sum| b, -sin I ,n=1.. :

> plot( STF t=-L..L, scaling= CONSTRAINED)

seno’

> plot( [, STF

seno

], t=1.95.2.015, color = [red, blue])
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> ji= (%)~(t+4)-HeaViside(t+4) —2~(%)-(t+2)-HeaViside(t—|—2) + (%)t

-Heaviside(?) : plot(j, t=-5..5, scaling= CONSTRAINED)
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(> k= f+j:plot(k,t=-5..5, scaling= CONSTRAINED))




> aa, = (%)'int(kcos( n-Pi-t ) )
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B 5 5 5 5
aa, := ) + — o)
nm n’ TE nm
S(COS(inn)—l-i nsm(inn)) 4sin(inn)
5 5 5 5
n T nTi
> bb —szmplzfy((%)-int(k-sm( El ! ),tz—L L))
bb, =0 )
> aa = (%)-int(k,tz—L..L)
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n-Pi-t
> STF, = CC+sum(aan-cos( I ), n=1 ..500) :

[ > plot(STF,, t=-L..L, scaling= CONSTRAINED)

cos’

=> plot( [f, STF

C

OS], t=1.95.2.015, color = [red, blue])
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[ > plot(f, t=0..4, scaling= CONSTRAINED)
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aaa, = (ﬁ ) int(f,t=0.2-LL)
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bbb, _1 -4sin(nn) cos(nmn) +4sin(nn) 13)
2 2 2
n'm
. n-Pi-t . ( n-Pi-t _ )
> STF,, == CCC + sum| aaa,-cos 73 + bbb, -sin ) n=1.500]|:

> plot(STFSOO, t=0.4, scaling = CONSTRAINED)
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